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SECTION-A

Answer all questions. Each question carries one mark. [1x40=40]
1. Business is related to?

a. Trade b. Sale

c. Purchase d. All of them
2. Which is a Multi-National Company?

a. Reliance b. Godrej

c. Tata d. All of them
3. BBA course is run by?

a. School b. College

c. University d. Both College & University
4. What is the motto of any business?

a. Profit Earning b. Customer Satisfaction

c. Accumulating Wealth d. All of the them
5. EMI is paid?

a. Yearly b. Quarterly
c. Fortnightly d. Monthly
6. Honorable President Droupadi Murmu is the President of India?
a. 13 b. 14
c. 150 d. 16"
7. Gustavo Petro has been sworn in as the President of which country?
a. Australia b. Canada
c. France d. Colombo

8. Which country won the gold medal in the open section of 44" Chess Olympiad?
a. India b. Russia

c. Ukraine d. Uzbekistan



9. ‘Mission Sagar’, the outreach initiative launched by India covers how many countries?
a. One b. Three
c. Five d. Seven
10. Which is the first country to approve vaccine for Covid Omicron Variant?
a. India b. USA
c. Russia d. UK
11. What is the full form of W3C?
a. World Wide Web Consortium b. World Wide Web Company

c. World Wide Web Center d. World Wide Web Command
12. One Nibble is equal to?
a. 4 Bits b. 4 Bytes
c. 8 Bits d. 8 Bytes

13. Which is/are the database languages?
a. Data Definition Language b. Data Manipulation Language
c. Data Control Language  d. All of the above

14. Who had designed ENIAC?

a. Gladeon Bames b. Herman Goldstine
c. Betty Snyder d. John Mauchly
15. Who among the following proposed the R-tree for the first time?
a. Antonin Guttman b. Van Neuman
c. Steve Jobs d. Michel Raschell

Find the error: -

16. Many people (a)/attended the funeral (b)/off the (c)/great man (d)
17. Laugh (a)/is the (b)/best (c)/medicine (d)

Arrange the jumble sentence into correct sequence: -

18. He first/ piano/ learned how/to play the

a.1 324 b.3124

c.1342 d2134
19. He was sitting the tree.

a. in b. under

c. into d. for

20. Find the adjective in the sentence: - “He was very old”
a. he b. was

c. very d. old
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How many such consonants are there in the above sequence which are immediately preceded
by a symbol and immediately followed by a digit?

a. One b. Two

c. Three d. None

Which of the following is exactly in the mid-way between the 9% from the left end and 7t from
the right end?

a. Q b. 2

c. § d W

If the first 15 elements are written in reverse, then which of the following will be 7 from the
right end?

a. 7 b. @

c. 5 d. K

You are in the middle of watching a movie in a theatre. The lights go out and there is panic
everywhere. May be there is a fire somewhere. What will you do in that situation?

a. Try to save your skin by running away

b. Be seated and wait.

c. Try to calm down people and help them find a way out

d. Cry at the pitch of your voice

The teacher has given the class an assignment to complete. You as a student will?

a. Complete it to the best of your ability

b. Complete it and ensure you do a good job within the time limit

c. Want to be the first to finish it

d. Decide to do it at your own convenience

Find the missing number: 4, 16, 36, 64, ?
a. 150 b. 250

c. 100 d. 200

What is the value of 25% of 4/9 of S times of 27?

a. 17 b. 15

c. 18 d. 13

If 16 men can do a piece of work in 40 days then how many men will complete the same work in

20 days?
a. 29 b. 30
c. 31 d. 32



29. A and B invest in a business in a ratio of 3:5. If the profit is Rs. 24,800 then what is the share

of B’s profit?
a. Rs. 16500 b. Rs. 15500
c. Rs. 14500 d. Rs. 13500
30. If the simple interest is Rs. 12560, time is 2 years, principal is Rs. 36000 then what is the rate of
interest?
a. 17.44% b. 18.44%
c. 15.44% d. 16.44%

Questions 31-35 are based on the data given below: -

No. of fruits = 120

W Banana - 30%

Others - 20%
Others Orange - 15%

m Kiwi- 10%

31. If 50% Bananas are good then what is the number of good Bananas?

a. 16 b. 17
c. 18 d. 19
32. How many Oranges are there?
a. 16 b. 17
c. 18 d. 19
33. What is the ratio of Kiwi is to Banana?
a. 1:3 b. 3:1
c.2:1 d. 1:2
34. What will be the sum of Banana and Apple?
a. 46 b. 56
c. 66 d. 76
35. What will be the result if we divide number of fruits with %age of Orange?
a. 7 b. 7.5
c.8 d. 8.5



Read the passage below and answer the questions based on the passage.

Our voyage was very prosperous, but I shall not trouble the reader with a journal of it. The captain
called in at one or two ports and sent in his long-boat for provisions and fresh water, but I never went
out of the ship still we came into the Downs, which was on the 3¢ day of June, 1706, about nine months
after my escape. I offered to leave my goods in security for payment of my freight, but the captain
protested he would not receive one farthing. We took kind leave of each other, and I made him promise
that he would come to see me at my house in Red riff. I hired a house and a guide for five shillings which
I borrowed from the captain.

36. What is meant by the word ‘prosperous’ as used in the passage for voyage?

a. It made the author healthy b. It made the author rich
c. It was very uneventful d. It was very pleasant
37. What does it mean by the word ‘provisions’ in the context of the passage?
a. Mainly food b. Mainly ammunition
c. Mainly security d. Mainly money
38. Why did the author offer to leave his goods to the captain?
a. For the safety b. For the payment of his freight
c. For his prosperous journey d. None of the above
39. Define captain’s attitude towards the author as described in the passage.
a. One of hostility b. One of disgust and irritation
c. One of indifference d. One of extreme friendliness and kindness
40. What did the author do when the captain refused to take his goods as security of payment?
a. The author offered him to come to his house in Red riff
b. The author offered him his gratitude and said good bye
c. The author offered him five shillings
d. The author abused him for his good deed.

SECTION-B
Write a paragraph on both the topics. [5x2=10]

1. Social Media.

2. Digital India.
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